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Question Number : 1 Question Id : 7155052651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R; and R, be two relations on E”defined as
(a,b) Ry (c,d)ifad —bc=0

(a,b)Ry (c,d)ifa+d>b+c. Then:

Options :

7155058371, R1 1s transitive but R, is not transitive

7155058372, Ro 1s transitive but Ry is not transitive

7155058373, Both R and R, are transitive

7155058374, INeither Ry nor Ry is transitive
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Question Number : 1 Question Id : 7155052651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
R - @ 988 052 (leeladmed Ry, R, O

(a, b) R (c. d) if ad — be > 0 @RDWOT,

(a,b) R, (c,d) ifa+d>b+c M oildcollo]deam) egeslad,
Options :

1155058371, R1 (S000IIGIQLI06NT agyomd R, (SO0t Glaug).

155058372, R2 [somiigialcem, agmmowd, R, Leocr%mﬂ@m{%

7155058373, Ris Re DO @8M3J0 (SORMIGIL06™

155058374, Ris Ry 800U @6NS)0 Selselagy) g:ﬁ]cu%

Question Number : 2 Question Id : 7155052652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 ( 30 30 \2
Let a and B be the roots of x* —3x +9 = 0. Then | A | 1s equal to
L(90)™ (9p)'?)

Options :

7155058375. 1

|
7155058376. Y

7155058377. 3



7155058378. 9

Question Number : 2 Question Id : 7155052652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

s |
30 )* g

{30
2 —3x +9 = 0 QIOS DILIEMER6M o, p afI@d, | B, @ may
S TUEEET asb e o™ )

Options :

7155058375, 1
]
7155058376. 9

7155058377. 3

7155058378. 9

Question Number : 3 Question Id : 7155052653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For z=2 + 5i, the modulus of 22> + 2122 —58z+4 is :

Options :

7155058379. 1153
7155058380. 947

7155058381. 337



7155058382, 837

Question Number : 3 Question Id : 7155052653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

z=2+5i af)MEIM, 22° +212° - 58z +4 - &R Exeinflel
Options :

7155058379. 1153
7155058380. 947
7155058381. 537

7155058382, 837

Question Number : 4 Question Id : 7155052654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the system of equations

Kx—ﬁy+\/§z -J7

= = —
\."IJ.T + < 3}-‘ = '\."EZ =411

30x +(3V15 = 5v6) y + (5715 = 3310)z = 5421 + 3455
has infinitely many solutions. then K? is
Options :

7155058383. 27



I
7155058384. 3

7155058385. 9

7155058386. 3

Question Number : 4 Question Id : 7155052654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MUY CUSCUOOBUBHS).

Kx—\E}’+\/§z=ﬁ

\.EI + \.ﬁj" - \."EZ = \."I] I

30x + (3315 = 5J6) p + (5415 = 3J10)z = 5421 +3455

@012 @BREME0 al@1nNIEBRUE ©F)ENZES @3 K2 alf)(MID),
Options:

7155058383. 27

'..nl'l—

7155058384.

7155058385. 9

7155058386. 3

Question Number : 5 Question Id : 7155052655 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

_fa 0) 10y} . :
For a, B € E. if the matrices A= = andI= Isatisfy the equation
) q

0 @) 0 1)

(A%B)#2I =201, where # is detmed as A%B=A%+B, then | of| 1s equal to :
Options :

7155058387, 233
7155058388, 212
7155058389, 4

7155058390. 2

Question Number : 5 Question Id : 7155052655 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

|"J& [}H'I |"J01_ []1I |1 []\'I
; A<l |B=
o, pER @OEDYM) o 8120 oo o)

201 & DheenoggIm]. @oflad A * B=A%+B% epao aflwedad % of
ool afldaem). ag@ia, | ofl agme

o)l VD00 (A # B) % 21=

.i

Options :

7155058387.2\ﬁ§
7155058388, 272
7155058389, 4

7155058390. 2



Question Number : 6 Question Id : 7155052656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. o 1
The sum of the first eleven terms of the series is =

Options :

7155058391, 133

7155058392 133

7155058393, 33

33
7155058394, 67

Question Number : 6 Question Id : 7155052656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 - u
: - — +. gy MosujoecaerIine ane) adlomoen

1—1:+14 1+13+24Il+3:+3
™

61
7155058391, 133

66
7155058392, 133



16

7155058393, 33

33
7155058394, 67

Question Number : 7 Question Id : 7155052657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
x+2

lim(1+3x) * s equal to

x—0

Options :

7155058395. €

7155058396, &°

7155058397. e°

7155058398, e°

Question Number : 7 Question Id : 7155052657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x+2

lim(1+3x) * Q)N :

x—0

Options :

7155058395. €



7155058396, e°
7155058397. e°

7155058398, e°

Question Number : 8 Question Id : 7155052658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. " ' ' A . ' I‘S_}'—IE_Z—IU 2'
Let P(a.f.A) be the image of the point Q(1,2,0) in the line e , then (PQ)* is

equal to
Options :

7155058399. 90
7155058400. 180
7155058401. 360

7155058402. 270

Question Number : 8 Question Id : 7155052658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i X=5 y=12 z-10
[l =y 08 6108) Q(1.2.0) @Y6)S 6Nl ToarIMIEN] P(o.f, B, ﬁ,)

3 I
o)1 (PQ)* )M,

Options :



7155058399. 90
7155058400. 180
7155058401. 360

7155058402, 270

Question Number : 9 Question Id : 7155052659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A box contains 7 red and 9 white balls. The number of ways of drawing 8 balls such that there are at
least three balls of each colour, is :

Options :

7155058403. 8820
7155058404, 10584
7155058405. 1764

7155058406. 3515

Question Number : 9 Question Id : 7155052659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

£0) OSI@@ 7 )N 9 HOULYEM lMSBENE. GG MNODNR)SS
SHOGTDTT 3 lD)BHUE URGEDMEH UNWOTEE 8 Ll0DBIT af)S)BHIMSE
DOBNE@BEIOS af)ilo.

Options :



7155058403. 8820
7155058404, 10584
7155058405. 1764

7155058406. 3515

Question Number : 10 Question Id : 7155052660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

' - f ~ 1- - '
Let [t] denote the greatest integer function. If [[1+2*+¢* lar=a, then 365 - 254" +84° - o' 15 equal to
it J

Options :

7155058407. 19
7155058408. —19
7155058409. 18

7155058410. —21

Question Number : 10 Question Id : 7155052660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

7] fa) [ ].'-' 5 9 L]
] e’ @B abem Vo0 afdBe EBE&IMY). [+ k=0 ARWOM,
el

36a-250" +8 - a' Q@m')"(ﬁ :

Options :



7155058407. 19

7155058408. —19

7155058409. 18

7155058410. —21

Question Number : 11 Question Id : 7155052661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let PL = 8 units and QM = 2 units be two parallel line segments such that the line segments PM
and QL intersect at the point R. If PL and QM are tangents to a circle passing through points P, Q,
R then radius of this circle is

Options:

7155058411, ~2

7155058412. 2

7155058413, 2+2

7155058414. 4

Question Number : 11 Question Id : 7155052661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GG UEMDEBRUB pv oL )N 63 R )5BS QNOD

pL=5 @)6MN0, ou=2@YEM1G @RQ @6NE A COELILEMLEBRUI 96N,
NNMB)EOUD 2oR LS HSMNEIIE)M (UIOMOD0M OMIS)UDHSBIENT 2L
QM af) 1@ QU SOOMHM @Ry af) (M.

Options:

7155058411, ~2
7155058412. 2
7155058413, 242

7155058414, 4

Question Number : 12 Question Id : 7155052662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For some o €17, let PQR be a triangle with two fixed vertices P(2, 5) and Q(a, -11). If the point R
moves on the line /i 9x + 7y + o =0, then the centroid of APQR moves on the line /, which is

20 ; L : . :
—— uits from it. If the distance of Q from / 1s X thenkis

WI30 3,130

parallel to /1 at a distance

equal to :

Options :
7155058415, 117
7155058416. 129

7155058417. 131

7155058418. 133



Question Number : 12 Question Id : 7155052662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
allPl e o, @flea06mo PQR - &R 06rE tBldaxenscd P2, 5), Q(o,~11) DAL

rudlomoem. eflos) R, GoE 1p: 9x+ 7y +a=0 -leyes oflemisw)o (@leaosmo

20
.’w‘ll| 30

APQR -6} awimea(3o /; -@ ey = g anena@o mAdme

- " e . k
8r6d & - afleyes mlemisio aalgymmy. f -@ dlmio Q caleaes B)oo Y
AWM, k IS mielo agmMa -

Options :

7155058415, 117
7155058416. 129
7155058417.131

7155058418. 133

Question Number : 13 Question Id : 7155052663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A{x; 3, i = 1.2,3 be points on the circle x* + 3 = 10 such that A lies in the 1" quadrant and it
is the image of point A, with respect to y-axis. If the distance of point Ay from each of the points
A, and Az is 2, then twenty times the area of the A Ay Ay Ay is

Options :

7155058419. 12

7155058420. 30



7155058421, 24

7155058422. 48

Question Number : 13 Question Id : 7155052663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(Um0 ¥ + =10 -6 603080 Afx; 3y, =123 d, A) OOE
21EBI0REH@ &S], COR) 1 BOALOD G MOOMDIEE] A, - O
anflosnimoeny. A, A; el @0eo ellmsedlad allmie allm) A, - calsn)es
Bj0e 2 maem%%fo%, orud muamA Ay Ay Ay wigs aoggal

Options :

7155058419. 12
7155058420. 30
7155058421. 24

7155058422, 48

Question Number : 14 Question Id : 7155052664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The remainder when 7% is divided by 15 is

Options:

7155058423, 5

7155058424, 7



7155058425, 9

7155058426. 11

Question Number : 14 Question Id : 7155052664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
757 0 15 6)dHI6NS N 1HN)GMUINIBE (o aHo

Options :

7155058423. 5
7155058424, 7
7155058425, 9

7155058426. 11

Question Number : 15 Question Id : 7155052665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the plane y = ax — Bz + v passing through the point (1, -1, 3) is perpendicular to each of the
planes 2x +y+z=1and 3x-2y+2z=0,thena+f+yisequal to:

Options :

7155058427. 5

7155058428, 13



7155058429. 19

7155058430. 27

Question Number : 15 Question Id : 7155052665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ol (3] (1,-1,3) -216)S &HSMIEIIBIMM y=ax-pz +y pm WEID,
2+y+z=1,3x-2y+22=0, ) BOGRO MAIBRAN)0 LloFIDOHEMEIM, o+ p
+yi¥@ﬁﬂﬂfj

Options :

7155058427. 5
7155058428. 13
7155058429. 19

7155058430. 27

Question Number : 16 Question Id : 7155052666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2 A A% M= NN N P Y A N c ot
Let a=i+27+3k b=i—j+2k c=2i+j—4k be three vectors. If ; is the vector such that

B O R 5 gy = = =)

rXa= b+c|xa and r+| b—c|=0 , then ;.(_;'4.,{_,’;) isequal to:
) \ / ‘
Options:

7155058431, 3



7155058432, 4

7155058433. 5

7155058434, 6

Question Number : 16 Question Id : 7155052666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O O o W e O TN, o " e ox el ¥
a=i+2]43k, b=i-j+2k, c=2i+j-4k YT VAIREMGOAM). ; e muslvemsm
5 3 = 3\ = 5 (= 5

(Xa=|bicla, 1| b-c|=0 @mOOM,. ;-(Ef}—ﬁ) o m)ey@06
L J J '

Options :

7155058431, 3
7155058432, 4
7155058433, 5

7155058434, 6

Question Number : 17 Question Id : 7155052667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The probability that a randomly selected root of the equation | +x + 12 4.4 £18.= 0 satisfies the

equation x' = 1, is
Options :

7155058435, 0



7155058436. 29
£
7155058437. 59

7155058438, 118

Question Number : 17 Question Id : 7155052667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(MUDCUIELIO0 145+ 2+ 4118 =0 myos (@20l M0 ag)S)om 80} DYl x' =1
g TUDAUIeR|0 g:.%saoem@gomggg (rOSWA® :

Options :

7155058435, 0
7155058436. 59

3
7155058437, 59

|~

7155058438. 118

Question Number : 18 Question Id : 7155052668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let X have the binomial distribution B(n, p). If its mean is 3 and variance is 2, then P(X < %] s

equal to ;
Options :
29x 28
7155058439,  3°
25% 2°

7155058440. 3°

163
7155058441, 3°

835
7155058442, 3°

Question Number : 18 Question Id : 7155052668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X -0)88 &flalB aimeaeosiB(n, p). @RE16Q DOW0 3 Ho A@IWIMo 2 o

Ao, X< ) agmal:

Options :
29x 28
7155058439,  3°

25% 27

7155058440. 3°

163
7155058441, 3°

835
7155058442, 3°




Question Number : 19 Question Id : 7155052669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ra J ™
| X -3x+2] .

The domain of the function f(x)=cos | ———| 1s:
S A )
Options :
(213
7155058443. 3

i
7155058444. [5’ )

7155058445, - 42 L 2= 1]

7155058446, (—.— 1—+2) U ({2 —1,9)

Question Number : 19 Question Id : 7155052669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ x2—3x+2)
aydBo flr)=cos™ | 5——| - O DEMLEAlS :
- e E2x—1 ) ’
Options :
| _1 E:|
7155058443, \ \5

i
=00 |
7155058444, [5 J

7155058445, -~ =42 = L. 2 — 1]



7155058446, (—o0.— 1= 42) U ({2 -1,59)

Question Number : 20 Question Id : 7155052670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is a tautology ?

Options :
7155058447, ((p = Q) V p) = ¢

7155058448, ((P A q) = p) = ¢
7155058449, ((p A q) A{~q)) = p

7155058450, ((p=4q) V p)=p

Question Number : 20 Question Id : 7155052670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O dlenm (ardmoaIm&&l @b esoegogic) ?
Options :

7155058447. (P = Q) V p) = q

7155058448. (P A Q) = p) = q

7155058449, ((p A q) A(~q)) = p

7155058450, {(P=Q) V p)=p



Mathematics Section B

SectionId: 715505164
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505164
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 7155052671 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The curve y=x" + | divides the area enclosed by the curves y + x| = 3 and y = [x~1|in the ratio m :
i, where m and n are coprime, then m + n is equal fo

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Question Number : 21 Question Id : 7155052671 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OEIEBRUG v+ x| =3 = x-1|0T1@6MQNAHNM alOUBONOM @Elo y=r+1,m:n
@0oUOAIMLODNME RINIHNM). m . n U alOTY00 BREISLEERSIEN.
o) 108 m + n af) TN} ‘

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052672 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of ways in which 30 identical pens can be distributed among 12 students so that each
student gets at least one pen and exactly two students get at least two pens each, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052672 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



12 aflejodmdl &, MmIMA0W 30 eunar AllMOEMo H.2IGIEMIIR, BE
allgjodmd énio IO B} sumaye, AME Qlla0MAHBEE &I 06ME
GelM:@o & gcm@g aadnemgas P.L:j 6;%0 BOeM.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052673 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i e .
Let (1+x*—x*) " =3 ax™ Then ag+ap+ay+...+ agy is equal to
' n=10

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052673 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

n=0

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052674 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
It S, denotes the sum of first n terms of the series 7+ 10+ 16+ 25 + 37 +..., then S3p— S, 1s equal

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052674 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

7+10+16+25+37 +.., 6R6MIWIOS ADA) n IGEIBRINS MYHOD S, gyt
rvpadlad oo, S35- Sy agmMay

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



10to 12

Question Number : 25 Question Id : 7155052675 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If [t] denotes the greatest integer < t, then the number of points , at which the function

f(x]=[x+xﬂ+‘x—x3 ‘+

1
v+
2

is not differentiable in the open interval (-10. 10), 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052675 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[] :“.D."‘""@ @le. ( g):samﬂouﬁu' <t (G'@’ﬁlum. QS\&O’T’T) SEUS (-10,10) - o)

BOOUSEINDIBIND aRR0 f1)=] r+x® [+l f+fr+

Response Type : Numeric

-0 enfla3)80816S g)emo

i

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Question Number : 26 Question Id : 7155052676 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
: dx

If|————

(3x"+5)y10x" 47

| ‘ ; : .
NG log, | f(x) +C where C is an arbitrary constant, then 7 (0) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 26 Question Id : 7155052676 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

l
R s | ],zif » .
RN T TR i (x) +C@RWIMD (C af)(M@®) 630) MUOD

@OBONNDIET) (0) af)DIVNDE0)0.

Response Type : Numeric

el

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052677 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let the equation of the hyperbola with foci (1, 5). (1, —1) and eccentricity \3 be

x“—2y*+ax+by+c=0. Then|a+b+c|is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052677 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MR EHBEMA (1, 5), (1,-1), pREHM® |5 AR &) Mmelouawnwan

-~

= [ | it [
ORI 17— 257 +ax + by + ¢ = 0. e

4

i+btg Q@ﬁﬁtﬁ
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052678 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let 0y, 0y be the values of o such that the distance between the point (2, 4, 3) and the plane

3x+y+az+10=01s 35 units. Then the area of the triangle with vertices (ay, ay, 0),

(164 i,
(a, ag, 0) and |1—:,;~.,u is unit-,

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052678 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0 - QNS OQRIERA o), o) mvaym, Mo 3r+y+oz+10=0Wlo 103 (2,4,3) @jo

madlalgg 800 35 WSS, agElm, (o, w.0). (. sy, 0) 35 5.0) DU ¢4
Doemegow (@eaoameniand alealgns 2109 QeI @AM
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052679 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

" st J n N Mns fi Fi N ~
Let O be the origin and let the vectors OA=-3;+7; +5k, 0B=-51+7j-3k and o¢= ,; represent
three sides of a parallelopiped, where ;; is a unit vector in the xy- plane. If the maximum volume
of the parallelopiped is 2/, then a is equal to
Response Type : Numeric
Evaluation Required For SA: Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052679 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
@RWORS (R)(L)0, OR=—31+7 +5k, OB=—51+7; -3k, OC=x a@m‘ﬂ ol coemed

mooamaa mpoeamlend QYT QUCdEMBEIM06M. Goal@, 4, ,x malowinal emlg

BUHSO0M. MU0B0NmE e TRoRmm 1008 @] C'"J_I;'-JOO_T@O YN[ (GT@)GIJO('CFG, o Qe
jeljo @M.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052680 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Xx+y=2 dy X+y+l

[f the solution curve of the differential equation X+ >2 passes through the

x+y-l dx x+y+l

iy A
a +da+2

points (JE.JE | and (2.a), then 2~ log, is equal to

\ f |
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052680 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X+y-2 dy _X+y+2

@I0CUHEIM TV MOcEBKO

x+>2 6 al@1a0I® (o

+y-1 dx X+y+l
(V2.2) . (2.0) aff)(n’] BTN(BQGGQQWBQG‘JS SN GalIH)M). af) 8100

Sl [L’.e‘ +4a+21

kit

ama

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Aptitude Test
SectionId : 715505165
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505165
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 31 Question Id : 7155052681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Adobe is a

Options :

7155058461, Lype of cement

7155058462, 1ype of floor finish

7155058463, Lype of paint

7155058464, 1ype of Brick

Question Number : 31 Question Id : 7155052681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
@REOWIEN o))

Options:

J155058461, TUIDE DO c-QF1LI06N]

2155058462, 82L0@ o010 ot MM B 1R106IT)



2155058463, )1 @10816)08 DOD) I HHQOEN]

7155058464, DL 1EHWIE)S DI JHWIEN

Question Number : 32 Question Id : 7155052682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Chandigarh is the first planned city of Independent India
Statement IT : Chandigarh city was designed by Swiss French architect Le Corbusier

In the light of above statements, choose the most appropriate answer form the options given
below

Options :
7155058465. Both Statement I and Statement IT are correct
7155058466. Both Statement I and Statement II are incorrect

7155058467. Statement I is correct but statement II i1s incorrect

7155058468. Statement I is incorrect but statement II is correct

Question Number : 32 Question Id : 7155052682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



6 OBISYEINDIBOYMN NS (YIS,

(JRICUM 1 : VIO OO WIES BRYBLHDED @RIV M@0
alemuNnO @yen.

(a1 ROUM 1T : 2NN @)l @Bl 6)alQM) NV LI0N- (06D (LI
(@8] 6121 GAHIFELWIQE @ReNT.

M)BE16R] (AIMIOIMNBE)OS OIS 2O [, MIGY 6)HIS)OMNQG
(M0N0 aFONo ERMELIRINIW OOM@0 DS BN .

Options :
2155058465, (AITROOUM | ©o (IRIIM Il Do Lo@IWIENT,

7155058466, (AITRICUM | 80 (nITgIUM Il Qo Q6]
2155058467, (AITRIQUM 1 U@ IM®)0 (AITRIOIM I H@OIDOEIT]

7155058468, LAJTROCUM 1 GIDIQ)0 (alToCUM 1t UoEIW)RI6NT.

Question Number : 33 Question Id : 7155052683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements;

Statement I ; Glass has low thermal conductivity
Statement II : Glass can absorb, refract and transmit light.

In the light of above statements, choose the most appropriate answer form the options given below
Options :

7155058469. Both Statement I and Statement I are correct

7155058470. Both Statement I and Statement IT are incorrect



7155058471. Statement I is correct but statement II is incorrect

7155058472. Statement I is incorrect but statement II is correct

Question Number : 33 Question Id : 7155052683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
969 BSOSO DENS (I MYICUMN BN,

(YOO Iz H)OAD) Ml 2 lOLISHM@IET] LIMMNM)BE(D)

(nJORICUN 11 : QINNT (alHILDEDD @RYUTREMU)0, BRAIIGEMML0
(IGBHAIEMN)0 612/GIMSES B9 1N)6NE.

DAS10R! [ TYIUMBEOS OIS 2N, IO O)BHIS) ORI
(Mo Q0o ERMBGLIRIAIW DO OOOEDMS)ERN .

Options :
2155058469, (AITYIOUM I Do (alRIOUM I o U@ 1WA,

2155058470, (AJOTRIQUM I Do (alTYIOUM II Do SDQIE).
7155058471, (dTROCUM T VO@1W)0 (AITYICUM II EYDIQIADIEN.

1155058472, [AITROCUM I OO0 (AITYICUM T UAE Q)Y NI6NT.

Question Number : 34 Question Id : 7155052684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A PPMUY [. [KAUSHAL VISKAS YOJNA
B. PMAY 1II. JAN DHAN YOJANA
C. PMEVY 1 JUTTWALA YOJANA
D. PMIDY IV, JAWAS YOJANA

Choose the correct answer from the options given below:
Options :
7155058473, A-L B-1IL C-IL, D-IV

7155058474, A-IIL, B-IV, C-1, D-II
7155058475. A-IV, B-II, C-III, D-I

7155058476, A-IV. B-III, C-1, D-II

Question Number : 34 Question Id : 7155052684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WS 160 S T MIQ Gal@)o IS Cal@dE)db.

alSlds I alS1d 11
A. [PMUY L [0@D0am0 (b GwIRm
B. [PMAY I [203 )03 CWoBm
C. PMKVY  |IL [pelel cQozm
D. [PMIDY IV @ o cwozg

MY 6)BISYOMOUQNE MMYo LR WIW OO0 OFREEOMS)H6))db.
Options :
7155058473, A-L, B-III., C-II, D-IV

7155058474, A-IIL, B-IV, C-I, D-II

7155058475, A-IV, B-II, C-III, D-I



7155058476, A-IV., B-III, C-I, D-II

Question Number : 35 Question Id : 7155052685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST IT
A |CP Kukreja [ IIM Ahmedabad
B. [Louis I Kahn II. Jawahar Lal Nehru University
C. BV Doshi I |IIT Eanpur
D. JAchyut Kanvinde| IV, [[IM Bengalum

Choose the correct answer from the options given below:
Options :
7155058477, A-IV, B-IL. C-1. D-III

7155058478, A-IIIL, B-1. C-II, D-IV

7155058479, A-1I, B-1, C-IV, D-III

7155058480, A-L, B-IV, C-III, D-II

Question Number : 35 Question Id : 7155052685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



32l0)0 alS) GalB@B6)db.

enaqu I enqu 11
A |mal @02 I [IM @Ra0N@NEENE
B. |PR@10N 0013 1L [20UaN®@ LIDOE M0 @eMCUEION
C. [enN.0/1 Gy IIL T h06N3a )@
D. |@0213)0) 0080163 | IV. [IIM £)6NloUT8)®)
Options :

7155058477. A-IV. B-II, C-1, D-III

7155058478, A-III, B-1, C-II, D-IV

7155058479, A-IL, B-1, C-IV, D-III

7155058480. A-L. B-IV, C-III, D-II

Question Number : 36 Question Id : 7155052686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which one of these is not a complimentary colour?

Options :
7155058481, Blue-Orange

7155058482. Red-Green

7155058483. Blue-Green

7155058484, Violet-Yellow

Question Number : 36 Question Id : 7155052686 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

DU @B aRBOXMINMNIGNT BHIoal 10NN (MOALIDODID).
Options:

7155058481, (N1R1- 63006101

7155058482, 213CUa]- alal

7155058483, (1R1- al2]

7155058484, (UQRIG- QI6I010)

Question Number : 37 Question Id : 7155052687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which State of India, Robbers cave is situated:

Options :

7155058485. Himachal Pradesh
7155058486. Uttarakhand

7155058487, Uttar Pradesh

7155058488, Madhya Pradesh

Question Number : 37 Question Id : 7155052687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

GNOIGENIDMN BB MO 6)21@IM@) HAMIIES a0
MeMOIM@ION 106

Options :
7155058485. A 102108 (A IGRUO

7155058486, DOM@I6UETW
7155058487, DOM@B(AIGBUE

7155058488, WS (AIGBUG

Question Number : 38 Question Id : 7155052688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option among the following:

Petronas Tower is situated 1in:

Options :

7155058489. Paris

7155058490. Dubal

7155058491, Kuala Lumpur
7155058492. New York
Question Number : 38 Question Id : 7155052688 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
MIOPIBSOUQ@3 MM 1E1QIW OBTD0 @ E)ETIMSIHE .

e)lG(SI6MIATY SOU@ rua1@ 6)21@)MID),
Options :
7155058489, A lJ(@ 1(NJ

7155058490, 3361V
7155058491, Gc0RIRI0a (@

7155058492, (NSICQI(BHH]

Question Number : 39 Question Id : 7155052689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The Konark Temple is located in which state?

Options:
7155058493, Madhya Pradesh

7155058494, Odisha
7155058495, Karnataka

7155058496, Rajasthan

Question Number : 39 Question Id : 7155052689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

B)BI6M @A) BHU(M0 afOF MoMMNIMNMMIENT MO 6)2QIMNID)
Options :

7155058493, DS IGBU0O

7155058494, 630 TnH
7155058495, dh(36IMISdH

7155058496, (0022(MOI(10

Question Number : 40 Question Id : 7155052690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the Lotus Temple?

Options:

7155058497, Louis I Kahn
7155058498, Mohse Safdi

7155058499, Fariborz Sahba

7155058500, Richard Meyer

Question Number : 40 Question Id : 7155052690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GLI0SM e)S0a18316)08 (UMY U181 @61,



Options :
7155058497, Q10U 00010

7155058498, O 16)(TV (T

7155058499. a0 1G6MNII@MU (MUDal)6rn

7155058500, () 124 2@(UJ GOM(@

Question Number : 41 Question Id : 7155052691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A small lift for carrying only a small load is known as:

Options:

7155058501. A dead Bearer
7155058502. A Dumb Waiter
7155058503, A Jockey Boy

7155058504, A push upper

Question Number : 41 Question Id : 7155052691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
630) 0)201Q CRIAWIOM (a0 BN B0 AalM® LllaAf @R QeNS)MO)

Options:



7155058501, 6303 OO eN1QOM
7155058502, 6303 (Wobll QU@
7155058503, 63(0) B20d36)1 BENIOW

7155058504, 6303 0o @O @

Question Number : 42 Question Id : 7155052692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which are often referred as 'twin cities' of Odisha?

Options :

7155058505. Bhubaneshwar-Puri
7155058506. Puri-Cuttack
7155058507. Bhubaneshwar-Cuttack

7155058508. Bhubaneshwar-Rourkela

Question Number : 42 Question Id : 7155052692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

RUWHWOS 003 MNEBRUE af)(M wlRIGI9)0 al00REUDHN6SIMO
B,

Options :

7155058505, B3UGMUVID- )@



7155058506, 301~ EHSHH)
2155058507 GIQUBMUDIE- dHS )

2155058508, (SACUGMUDI@- MBHEE]

Question Number : 43 Question Id : 7155052693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s the correct chronology of Human Civilizations in terms of their existence?

Options :
7155058509, Mesopotamia-Harappa-Egyptian-Chinese

7155058510, Mesopotamia-Egyptian-Harappa-Chinese
7155058511, Mesopotamia-Chinese-Harappa-Egyptian

7155058512, Egvptian-Mesopotamia-Harappa-Sumerian

Question Number : 43 Question Id : 7155052693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QMO MIN@HO @ MMM @O QENES BHILIE:N0 af)1)

Options :

2155058509, ©)AMNVEIGSA Q- aNIO]- MV alaH (18- £)6)alN 1N



1155058510, ©/DMEJICSATW-DEFaTaH{(08- aNI0]- ©)6) 2l
7155058511, ©AMVE2ICSA Q- £)6)2 I 10U- aNI- DV alaM (13

7155058512, DD o laH §(B-6)DM6)IBSAT®- aNI@e]-MEA 1B

Question Number : 44 Question Id : 7155052694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Qutub-Minar in Delhi was built by:

Options:

7155058513, Shah Jahan
7155058514, Jahangir

7155058515, Akbar

7155058516, Qutub ud-din Aibak

Question Number : 44 Question Id : 7155052694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

WO3aOQ6E] L) @6enT 2@ NGO 20)
Options :

7155058513, aHI2a 0010

7155058514, 2a000BUT1(@



7155058515, (BIAH6N(3

7155058516, ELA@6ML 3108 6)af)6rldh

Question Number : 45 Question Id : 7155052695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which direction in the southern hemisphere would you get glare free (diffused) light throughout the
year?

Options:

7155058517. North
7155058518. South
7155058519. East

7155058520. West

Question Number : 45 Question Id : 7155052695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BAHH10MIGWL CNISONEE af® G1UoNM3 (17168RUEH6 (U@aHo B)F)NI
018860 dh)N6TM (U Il 12]) (aldhIUoo LIE1EN)0.

Options :
7155058517, (USH6)

7155058518, 6)(0)d96)



7155058519, o |9 )

7155058520. S 161 (@

Question Number : 46 Question Id : 7155052696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the famous "Jawaharlal Kala Complex" in Jaipur?

Options :

7155058521, Raj Rewal

7155058522, Charles Correa

7155058523, Achyut Kanvinde

7155058524, Hafteez Contractor

Question Number : 46 Question Id : 7155052696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U016 [lUMYRIQ 2010BRIINE L1 Gdblonld: 16008 (UIMY UMl
@R)I6N.

Options :
7155058521, (002 6)O(UDE

7155058522. al0UGND GBIV 1

7155058523, @020 0080163



7155058524, 2020100 BdHI6NB(SI D

Question Number : 47 Question Id : 7155052697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Dhajji-Dewarl is a construction style popular predominantly in

Options :

7155058525, Coastal Areas

7155058526. Plains

7155058527, Mountainous Region

7155058528. Desert Areas

Question Number : 47 Question Id : 7155052697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B2)- GBAUAT (WIMDIWo @@ 20a10a0w &) MAZnIEM aaueeNwaen,
Options :

7155058525, (0)'10(] BBRU068BUI

7155058526. TUAMELI6ERUT

7155058527, (@YD) GRELUE]

7155058528, D(01E1(IGBUI6CBUT



Question Number : 48 Question Id : 7155052698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which stone is used for roofing in mountainous regions?

Options :

7155058529, Marble
7155058530. Granite
7155058531. Shale

7155058532, Sand Stone

Question Number : 48 Question Id : 7155052698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
@Y CR6ULIHE 00 CRMIBENOWIW aBD) BEIANT DalGWIUTIH)MI).

Options :

7155058529, D3N3

7155058530, ((N0O)OMN]

7155058531. GaH(00

7155058532, TVOBEAVIENT



Question Number : 49 Question Id : 7155052699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Chandigarh 1s an example of which type of city planning.

Options :
7155058533. Radio Centric
7155058534, Grid-1ron

7155058535, Linear

7155058536, Organic

Question Number : 49 Question Id : 7155052699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2lEMUINNUS o @0 MNEINVUMEMOTTENT B0) OBIANDEMAIENT.

Options :
2155058533, (U 1GWI 6YTVBIS1H6)
7155058534, LUT10W)- @RQ6ENS

7155058535, 17117103

7155058536, 63BN 185

Question Number : 50 Question Id : 7155052700 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If you have to build on the seashore in Goa, which rooms would have the best view of the sea?

Options :
7155058537, 1 hose facing North

7155058538, 1 hose facing South
7155058539, 1 hose facing East

7155058540, I hose facing West

Question Number : 50 Question Id : 7155052700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(168RUE GNICLQNEE] HSERINOOIN B0} (MGANIEMo MSOMMN)EI L, 1@
a0 M@0 MO BHUEHE BRET af0)o ME! HSOIHEHIY DRI .

Options :
1155058537, (USAE 16N BREDYEU1H@)H6)MNO
1155058538, O)OAEOMN @OE1DYEL @ 1B MO

2155058539, b 1PBEN 16N @RE 1261 150186 1MU

2155058540, S 16I0TMITIONM @RE 1DY6LU 1@ 166N

Question Number : 51 Question Id : 7155052701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
"NIFT" National Institute of Fashion Technology. Delhi is designed by

Options:

7155058541, B.V Doshi
7155058542, C-P Kukreja
7155058543, Raj Rewal

7155058544, Bimal Patel

Question Number : 51 Question Id : 7155052701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
“NIFT" (N0aY6M@3 H3CUI0NLS Gal aNeH08 £5HCMISE), AMGa0 WIREMIIE ol Qo)
Options :

7155058541, 6I 1.0 GRIaH |

7155058542, TUL.all. dHIHEO2

7155058543, (002 6)O(UDE

7155058544, OO0 A IGSO0

Question Number : 52 Question Id : 7155052702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II

[. |Empire state Building

II. [Hagia Sophia

8 !}_LEH?H'}'_l A II1. |Sydnev Opera House
LFRREREiLl

IV |Coloszzeum

L

| im——

Choose the correct answer from the options given below:
Options:

7155058545, A-IL, B-1, C-IV, D-III

7155058546, A-L, B-IIL, C-IV, D-II

7155058547, A-L B-II, C-III, D-IV

7155058548, A-IV. B-III, C-II, D-I



Question Number : 52 Question Id : 7155052702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@al®)o alS] Gal@H6)bs.

alglds 11

L |jaf)oal@@ caud snnadouens

Oy O

I [p02ZFQ COUIa01Q

1L [N £92]0 §)anNDm)

IV, [©)dh0GEa3 00 1 Wo

Options :
7155058545, A-IL, B-1, C-IV, D-III

7155058546, A-L, B-III. C-IV, D-II



7155058547, A-L, B-1I, C-III, D-IV

7155058548, A-IV. B-III, C-II. D-I

Question Number : 53 Question Id : 7155052703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIS-T I LIST IT

Jul
Al v 'ﬁ [ |Tesla

II. [Ferrar

C. III. |Porsche

cete | IV. [Tovota

Choose the correct answer from the options given below:
Options :
7155058549, A-IV, B-1, C-II. D-1II

7155058550, A-1L, B-III. C-I, D-IV

7155058551, A-1II, B-II, C-I, D-IV



7155058552, A-IV, B-III, C-II, D-I

Question Number : 53 Question Id : 7155052703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@al@)o alS] Gal@H6)bs.

alglds 1 NES

A v\‘:j:ﬁ L lpsm

e —

I 16)a000@]

I |Erl0006) ad

e | 1TV |1S0CW05

Options :
7155058549, A-IV. B-I, C-II, D-III

7155058550. A-IL, B-III, C-1, D-IV

7155058551, A-IIL B-II, C-1, D-IV

7155058552, A-IV, B-III, C-II, D-I



Question Number : 54 Question Id : 7155052704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Red, Blue and Yellow are the primary colours of a colour wheel.

Statement IT : The colours which are positioned opposite to each other in a colour wheel are
known as complementary colours.

In the light of above statements, choose the correct answer form the options given below
Options :

7155058553. Both Statement I and Statement IT are correct
7155058554. Both Statement I and Statement II are incorrect
7155058555, Statement I is correct but statement II i1s incorrect

7155058556. Statement I is incorrect but statement II is correct

Question Number : 54 Question Id : 7155052704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
6P E)HISYOMU O6NS (Ll MYICUMNBHBIE

(IO T : al)laflo T1RIW)0 MEDM®)o (UGNl EHOT6R] 06 A
(@eMeBRsAN).

(nYOOUM 11 : (BNl (BHOBN@ 0TV )@@ UUBEMIW M@
0)a1Q)(M UANEERUE G0 10D (UBEMEBRLB )T BRMWEXSIN).

M)dh& 162 (lTYINUMHEES IS 2@ @, MIEY OISO G
1Mm)e (BE1QWIQ OO0 @F1EETIMS)HO) .

Options:



7155058553, (AITYIOUM I Do (alRIOUM I o U@ 1WA,
7155058554, LAITROCUMN I Yo (alTYICUMN I Do G}@QOM.
2155058555, (AITROOUM I L@ 1Mo (alORICUM IT )DOQIAI6IT).

7155058556, LITROCUMN I 610 (alTYICUM) 11 U@ 1Y A6IM).

Question Number : 55 Question Id : 7155052705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following question consists of problem figures followed by answer figures. Select a figure from
amongst the answer figures which will continue the same series or pattern as established by the
problem figures.

PROBLEM FIGURES

PN |]?

Options :

<

7155058557.

7155058558.




<

7155058559.

<

7155058560.

Question Number : 55 Question Id : 7155052705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@SOMSE BaldBLON@D (] o/l (@EBBS)0 GUaHo OB ol (M6EBRE)0
9006)2S)N). OO 26108 Mo (1 al(@o NIl l2] @REM
G(UEM1 @S 630) 2o ONEETINS)H) .

2/ O[S |2
<

7155058557.

7155058558.



7155058559.

7155058560.

Question Number : 56 Question Id : 7155052706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
How many triangles are there in given figure:-

AVAVAN
AVAVAVA

Options :

7155058561. 26

]
N

7155058562.



7155058563. 27

7155058564. 24

Question Number : 56 Question Id : 7155052706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@M@ 1H00M 2 @O O af)(@ (@ EHI6MEBRUE D6,

N/
VAVAVAVAN

Options:

7155058561. 26

]
N

7155058562.

7155058563. 27

7155058564. 24

Question Number : 57 Question Id : 7155052707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Find the odd one out:-

7,9, 25, 32,43, 359
Options :

7155058565. 39

7155058566. 32

]
N

7155058567.

7155058568. 9

Question Number : 57 Question Id : 7155052707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
B06)SON6M B35S 186 bb.

T8 253243 ,50
Options
7155058565. 39

7155058566. 32

[
N

7155058567.

7155058568. 9

Question Number : 58 Question Id : 7155052708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A residential building has 15 floors. The height of ground floor is 4.2 meter (including length and
slab thickness). Rest all other floors are of 3.3 meter high (including slab thickness). What is the
total height of the building (from ground to terrace) in meters?

Options :

7155058569. 43.6 meter
7155058570. 50 meter
7155058571. 530.4 meter

7155058572. 51.6 meter

Question Number : 58 Question Id : 7155052708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

630) ld@al1S @861 15 RIS D6NE. MIOLEOT MEIH 4.2 110G
OQOMENS (V18010 MVIENT BMOLe OUERAS)IOTI OB, DGR
LIBHS)0SW)0 OW0 3.3 WIOE (WI6N BhMo DUBEIS) D16 BHI6NS) BIR6NT.
OSSO0 BB6d OO0 (MW@ NTINT HSOMS (UE®) AN of)1v)

Options:
7155058569, 43-6 A10@

7155058570, 50 D10

7155058571, 30.4 A1Q@

7155058572, 1.6 W1O@

Question Number : 59 Question Id : 7155052709 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Identify the mirror image of the given word:-

|
|
SUCCESS |
|
|

Options :
7155058573, & 4D Ué

7155058574, U DHE2
7155058575. SUCCESS

7155058576. SSECCUS

Question Number : 59 Question Id : 7155052709 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@MOMN@1HEM GO (l@6N N6 @12 W) .

|
|
SUCCESS |
|
|

Options:

7155058573. & &40 Ué
7155058574, & JJ)DHeEZ

7155058575. SUCCESS



7155058576. SSECCUS

Question Number : 60 Question Id : 7155052710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The scale of a map is 1:1000. If a car travels 7 cm from point 'A' to point 'B' on the Map. Then how
much the car has travelled in original:-

Options :

7155058577. 0.7 km
7155058578. 7000 mm
7155058579. 7 km

7155058580. 70 meter

Question Number : 60 Question Id : 7155052710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

63(@) 0021608 (UCHD 1:1000 @R)ENT. GLNRY A" @8 MITT 6NN3) B' (6D
00a1@3 G0} &G 7 Q.21 VUM 12J008, RLNIE@OOO8 &G
MVEDI@ 1 2)OD):-

Options :
7155058577. 0.7 km

7155058578. 7000 mm

7155058579. 7 km



7155058580. 70 meter

Question Number : 61 Question Id : 7155052711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A land size of 80 meter » 40 meter for a house design is drawn on paper at a scale of 1:100, then
what size is drawn on paper to represent the land?

Options :

7155058581. & meter * 4 meter
7155058582. &80 meter = 40 meter
7155058583. 8 centumeter * 4 centimeter

7155058584. 4 meter * 2 meter

Question Number : 61 Question Id : 7155052711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

630) N30 O)nlCEEUWHHIW] 80 110 x 40 210@ BRSNNEE R} (CBLADD 1:100
OO Cale) @ QURSNYM), afBIE Caled (@ QR (ICRRODNEME @B

Options :
7155058581, 8 meter * 4 meter

7155058582. &80 meter = 40 meter

7155058583. 8 centumeter * 4 centimeter



7155058584, 4 meter * 2 meter

Question Number : 62 Question Id : 7155052712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing number in given series.

16, 33,63, 131, 261 4.....)
Options :
23

A

7155058585.
7155058586. 321
7155058587. 524

7155058588. 320

Question Number : 62 Question Id : 7155052712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@@ 1H60)0M GUoENT 1M SH06MIMIQ MIo6M | dheNB)allS1H6)d:.

16,33, 65,131, 261, {:....)
Options :
7155058585. 523

7155058586. 521

7155058587. 524



7155058588. 520

Question Number : 63 Question Id : 7155052713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In a code language if ROMAN is written as TQOCP: then ITALY is.......

Options :

7155058589. KVCMA
7155058590. KWCNB
7155058591. KUCLA

7155058592, KVCNA

Question Number : 63 Question Id : 7155052713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

63(0) N)WIRIHW DI ROMAN 6)1) TQOCPAf)T af)P) OV I WIMB ITALY ....... BIR)6NT.
Options :

7155058589. KVCMA

7155058590. KWCNB

7155058591. KUCLA

7155058592. KVCNA



Question Number : 64 Question Id : 7155052714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select a suitable figure from the four alternatives which will come in the empty box.

- | X | X | ©

(A) (B) (C) (D)

)X
B\ b | ?

Options :

7155058593. D

7155058594, C

7155058595. B

7155058596. A

Question Number : 64 Question Id : 7155052714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

aldb@0 RIGLBIV) MIORIEM@T@3 (1Mo GF 61 61l WM (@M
@RMN)GLIRINIW (o BOEIMS)H).

X | X | O

X
D D|+
B

Options :

7155058593. D

7155058594, C

7155058595. B

7155058596. A

Question Number : 65 Question Id : 7155052715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Looking in the direction of arrow, identify the most
appropriate elevation from the given answer figures.

/!

Options :

7155058597.

7155058598.

7155058599.

7155058600.




Question Number : 65 Question Id : 7155052715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@29M o B} UTYNNEME BLL050 SHIETHM). @@ S
OOM 2N(O6@RE1E (M, ERMISWISEDAM G1UoW G
GMISNGILINIEE aFON0 ERMEWIRYNIW afRIGNUM® O 2 NW)d.

VZ

Options :

7155058597.

7155058598.

7155058599.




7155058600.

Question Number : 66 Question Id : 7155052716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Question figure shows top view/ plan of an object. Identify the INCORRECT 3D view from the
given answers figure.

Options :

7155058601.

7155058602.




7155058603.

7155058604.

Question Number : 66 Question Id : 7155052716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

610632/(o B0) UMYNN6MS 65Ia]- (1LY o
HIEMBONM).OMIE SN OO 2NOB@ NN OHMOIQ (@2IM
oli@o ONOEIEOMS)HE) .

Options :

7155058601.



%

7155058602.

7155058603.

A

7155058604.

Question Number : 67 Question Id : 7155052717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



How many surfaces does the object have?

Options :

7155058605. 9
7155058606. 10
7155058607. 8

7155058608. 11

Question Number : 67 Question Id : 7155052717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

QU] af)@) (I@EI6BBUE 26N

Options :



7155058605. 9

7155058606. 10

7155058607. 8

7155058608. 11

Question Number : 68 Question Id : 7155052718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the question figure is cut into two parts, which of the answer figures complete the question figure
without any overlappings?

Options :

N

71550586009.

7155058610.



7155058611. "'-—
7155058612. IT @

Question Number : 68 Question Id : 7155052718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

641904 2N (OEBROS NS RINERSIW M) 2@, O (EBRENMD
oBOI6NT B0) BIUGLIIA0 AIEM BaldBs 2 NOOBEM
o) BO 1D D)

Options :

=

-

71550586009.

7155058610.



7155058611. “‘*-
7155058612. IJ—_\_KI S

Question Number : 69 Question Id : 7155052719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 3D problem figure shows the view of an object. Identify its appropriate top view from the
answer figures,

Options:

7155058613.



7155058614. ]

7155058615. -

7155058616.

Question Number : 69 Question Id : 7155052719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&0 (U6 BL03006T (@120 (0l aNi@o HIEMHNMT. DO
2|@6BBS1@3 (1M)o ERM)EWIRINIW ¢SIal- (1) @@ )W)

Options:

7155058613.

7155058614.

7155058615.



7155058616. .

Question Number : 70 Question Id : 7155052720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



[dentify the correct elevation when you look into the object from the marked arrow side of the plan
of the object.

M () ()

A B G D
Options :

7155058617. D

7155058618. A

7155058619. B

7155058620. C

Question Number : 70 Question Id : 7155052720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@RSWISOAS)OBQ GYEI WIOS U MM (UMRONGRIEE]
BMIBOBMILE BENWIW af)RIGOHB @@ 2 @).

M (Y

A B C D
Options :

7155058617. D
7155058618. A
7155058619. B

7155058620. C

Question Number : 71 Question Id : 7155052721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A paper 1s folded in a given pattern and it is cut at the end. Identify which pattern is formed when
the paper is unfold.

A/ A L




Options :

™ ™ %
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™ » ™
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7155058623 % | *

L] as ]
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7155058624. s els @

Question Number : 71 Question Id : 7155052721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OMN@1HNM QIO 630) Gale@ DSENHW)o BR6M B0
D))o H1al@)M). Galed@ MGG aB TS
DO QIAMNENBIL A )M} ON@ 2@

’
/
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Options:

7155058621.
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Question Number : 72 Question Id : 7155052722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

A\

I

/L) [/
AA

Options :



7155058625.

7155058626.

7155058627.

7155058628.

Question Number : 72 Question Id : 7155052722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



621064210 G@) AUTRANARB (@12IM G040 SIEMHNIM).
ORMISQISOTNA3 F1U0QINM GMISETIIPETEIE:IM BOIWIW BLBY0
O 2NW) .

b

>

/
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Options :

7155058625.

7155058626.

7155058627.

7155058628.




Question Number : 73 Question Id : 7155052723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

!

/

Options :

7155058629.

7155058630.

7155058631.



7155058632.

Question Number : 73 Question Id : 7155052723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6210633210 B0) (UTRNANEMB (@AM BLU830 EHINTIHM).
ERIISQISOBNOM 3100@NE GMISOEMIILATBIM BE1WIW BLU8L0
N 20N )

/

7155058629.

(L) S
AV

ﬂ

Options :



7155058630.

7155058631.

7155058632.

Question Number : 74 Question Id : 7155052724 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
From the given options below, choose the correct plan of the 3-D object, when viewed from the top.

A

Options :

7155058633.

7155058634.

7155058635.



7155058636.

Question Number : 74 Question Id : 7155052724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

M@ MM (UNSHNBENEMIIE (@ MM AUMRONAE (dEIWIW aldd
0I69WIBS BInaHUMHS @D 10T @012 1)

'

7155058633.

ey
AVA

Options:



7155058634.

7155058635.

7155058636.

Question Number : 75 Question Id : 7155052725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The second figure in the first part of the problem figures bears certain relationship to the first
figure. Similarly, one of the figures of answer figures bears the same relationship to the first figure
of the second part. Identify the correct option from the given answer figures.

" \\s\: & I")

[ e [ .

A B C D
Options:

7155058637.
7155058638.
N
7155058639.
%
7155058640.

Question Number : 75 Question Id : 7155052725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



621904 2RO BRELRINAOD AARIAOGM 2o GMIDEOD
2N@ORAIQ MERND ELTMWo (e 1EOBH@)o MAIMNBIW),
OOMAN(MEBE16R! B) 2N(Mo 06130 BINEDIT BMILEDD)
2®NAIW BRCD LTWo (U EN)B:D)0 H121@)M). ML
OO 2N@E@ERSIE MMNo BHWIV BITHUM BTSN

] e \‘\\: ]
. . ] ?
A B b D
Options:
N\
7155058637.
7155058638.
W
7155058639.
%
7155058640.

Question Number : 76 Question Id : 7155052726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the true mirror image of the figure amongst the answer figures with respect to X-X

X

x|
Options :
7155058641.
7155058642.
7155058643.

7155058644.



Question Number : 76 Question Id : 7155052726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2NOODNOMB X-X OM EROILIOENIAIEH DSBS (D@ WIQ
[l 6 No6nI@NEM OO 2N@6R&1E3 NN @020 NW)d.

X

Options :

7155058641.

7155058642.



N

7155058643.

7155058644, g&

Question Number : 77 Question Id : 7155052727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option amongst the answer figures which complete the series.

ik




7155058645.

7155058646.

7155058647.

>/

7155058648.

Question Number : 77 Question Id : 7155052727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



BlUOAMNWIRRI a)@EMAIHENM AWIW B3InlaH0E HOMD o (MR
(071 O EEANDIS)H0) .

Options:

7155058645.

7155058646.

7155058647.

7155058648.

Question Number : 78 Question Id : 7155052728 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sheet is folded in marked format and cut led at last as shown. Identify from the options below, how
the pattern will be made when it's fully unfold?

[ [ [ [
N o‘lro / N -‘ ’o / N -‘I'; 4 N r‘Fro /s
L} L] o\ ] L} /r \ [ ]
kM7 ik M d)la ML gl M/ 4
1/|\Lh/|\‘|l'/|\1\/‘§\r
AL AL S L || AL

A 4\ An AN

A B [ D
Options :

7155058649. B

7155058650. A

7155058651. D

7155058652, C

Question Number : 78 Question Id : 7155052728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



630} 10 ERSQIBESYO0Q (HAOD08 BSHN)BW)0

6N 121018607 CGaldOR] @AIMNIMOo BYNTHEBW)0 61aIQ)M).

@O 1600 ANSEOONIWIOD af)eBBOMWISE AIMLHQIM)NEIBH)MEMN]
06988 B3IlaHM)BHE @ MM @101 20 1W) .

Options :

7155058649. B

7155058650. A

7155058651. D

7155058652, C

Question Number : 79 Question Id : 7155052729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the figure mentioned below find the missing series:-

ANNIAWAIAN
O @ @D

Options :

7155058653.

7155058654.

7155058655.

7155058656.

Question Number : 79 Question Id : 7155052729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



69 HHISYOM 2NOODNOR MO GIUEM MBS 1B db.

A A A
O @@ @D

Options :

7155058653.

7155058654.

7155058655.

7155058656.

Question Number : 80 Question Id : 7155052730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A Demand

530 4 D Supply
500 + 7
5 350+ /
= 300+ 7
g 250+ / // / /
Z 200+ /
1304 / /
100 + /
50 +
mm Y >
O L VEGETABLE COSMETICS SANITIZER  STATIONARY
{ FRUITS ITEMS

TYPES OF ITEMS

The diagram shows the supply and demand of different users for different items. Which of the
following is/are correct?

A. Sanitizer only meet 50% of the demand

B. Cosmetics has the least supply among all.

C. Among all, two items have equal demand but difference in supply

D. Among all, two items have equal supply and two items have equal demand.

Choose the correct answer from the options given below:-
Options :
7155058657, B and D only

7155058658, A and B only

7155058659, A and C only

7155058660, B: C and D only

Question Number : 80 Question Id : 7155052730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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7 D Supply
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O T VEGETABLE COSMETICS SANITIZER  STATIONARY
ITEMS

/FRUITS
TYPES OF ITEMS

@ME@SOM W0 UYITY UTYSNEH0Q QIS
90l6RIGMISOL)NS LNMBIML)0 BRNUBLBEW0 SIATHM).

A. MINTENOME CRUUDIBMWYES 50% DIMo MIa1OASIBHI).

B. GhMIOAN 110 AGIII@T a0 &)06M ONMOMAIEMSED).

C. NGBGAIID] 6NS (UMY HOUBHE ML BROUDIBMW)0 )M
QST ANEMOREMSSM.

D. MIECYInI@] @613 UMY BOUTHE @)L MO0 B6NTS QUMY HOUTHE

MELS EROUUIHMWINIMSSM).

MY E)eHISYOMAUQSEE (1Mo LE1WIW OBIMD0 O IOEETTNS)EE)d:.

Options :
7155058657, B. D (10((0)o

7155058658, A .B (M0

7155058659, A . C (1D((0)o

7155058660. B. C .D 300

Section Id :

Planning

715505166



Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 81 Question Id : 7155052731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a person cannot meet a minimum level of living standards compared to others in the same

time and place, it is called :
Options:

7155058661, Poverty
7155058662. Abundance

7155058663, Adequacy

7155058664, Luxury

Question Number : 81 Question Id : 7155052731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

4

Online
Mandatory
25

25

100

Yes

0

1
715505166
Yes

null



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

60 MAQMM)0 MIDLIOM)o H88 ANBBIEO BRGE:H 2] B0) B0
0600 210U RINI0 aldLNBHE B0 Uy 16 I B0I0M)
QUYEMIIUE (N 1BE) (),

Options :
7155058661, 30011330

7155058662, TUAIEU]

7155058663, L (03I (D)

7155058664, (CIO(Lo6IU(00

Question Number : 82 Question Id : 7155052732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Acropolis in Greece is a/an:
Options :

7155058665. Court

7155058666. Cltadel on a High Land

7155058667. Open Air Theatre

7155058668, Great Bath

Question Number : 82 Question Id : 7155052732 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(UIN16)R] @REIEHIO LN
Options :
7155058665, BdhIS(0) |

7155058666, mﬂﬂmm_@ 6306110 ) 6)6) a3
7155058667, 6308610 o) W@ OGO

7155058668, GLUIQ GNIOOT0)

Question Number : 83 Question Id : 7155052733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Land-use map, identify the colour code used for recreational uses.

Options :

7155058669, Yellow
7155058670. Green
7155058671, Purple

7155058672. Blue

Question Number : 83 Question Id : 7155052733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



RI20BOI @Y @2ad1@d, ANEMIGRINIIUHUELHIW] OalEWINHN)M
HBDACHIUW O 2 1Q)db.

Options :
7155058669, (A6I010)

7155058670, ]
7155058671, (@] 10T

7155058672. (V121

Question Number : 84 Question Id : 7155052734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Statement I : The plan of Delhi city is in the radial form.

Statement IT : The plan of Delhi city 1s in the Grid Iron form.

In the light of the above statements, choose the correct answer from the options given below:
Options :

7155058673. Both Statement I and Statement IT are true

7155058674. Both Statement I and Statement IT are false

7155058675. Statement I is true but Statement IT 1s false

7155058676. Statement I 1s false but Statement IT is true

Question Number : 84 Question Id : 7155052734 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
[ RICUM T : D@ MNOOHNEE B GO EE @)al@0RI6NT.

[l OROCUON 1T : A@Ba] MNEOD63 908 (LU GRWENS )l OONRI6N]

D)AELNES (YINIMEBE)AS OIS 2B MIOP H)HIS)OMQNM
(Mo (REWIW OO0 BROAIIS)ER)E.

Options:
2155058673, (ATYIOUM I ©0 (aJYICUM II Do (o 1@ I6IT).

1155058674, (AJOTRIQUM I Qo (alTYIQUM I Do )MQIEIT].
2155058675, (AITRIOUM T UB@ 1@)0 (alTYIOUM I OAIQIAD6T).

2155058676, (AITRIQUM I OO0 (alTRINUM I UO@ 1Y)

Question Number : 85 Question Id : 7155052735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II

A I [Christaller's concept

1».?

II. |Garden City concept

V
C. % IIT. [Ernest Burgess

\
(1100 &
D. D IV. [Radburn concept
(-
o

Choose the correct answer from the options given below:

Options :
7155058677, A-1L. B-III. C-I1, D-IV

7155058678, A-IIIL, B-1. C-II, D-IV

7155058679. A-IV, B-III, C-I, D-II

7155058680, A-IL, B-III. C-IV, D-I

Question Number : 85 Question Id : 7155052735 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
@2l@)o alS1 @al@H6)db:.

Sl I algls: 11

) L | 1UI@S d6endnmialsl
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D. Ny IV. (000U ©)6TI6NG hendemials)
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Options :
7155058677, A-1L, B-1II, C-I, D-IV

7155058678, A-III, B-1, C-II, D-IV

7155058679, A-IV, B-1II, C-I, D-II

7155058680, A-1L, B-III. C-IV, D-I

Question Number : 86 Question Id : 7155052736 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Tower in the Park [. |Sir Ebenezer Howards
B. [Neighbourhood Unit] II. [Le-Corbusier
C. |Garden City II1. |[Clerence Perry
D. |Sector Model IV. [Homer Hovt

Choose the correct answer from the options given below:
Options :
7155058681, A-L, B-III, C-IV, D-II

7155058682, A-IL, B-III. C-I, D-IV
7155058683, A-IL, B-III, C-IV, D-I

7155058684, A-III, B-II, C-1, D-IV

Question Number : 86 Question Id : 7155052736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
@2l®)o alS) Gal@H6)d:.

alSlds 1 alS1a 1T
A jod@eeael saud| I @ af)eIemoid GaNU0@]
B. [mu@ et Mn@o I (021 Go@enNmWa@
C. [1no@anmd Mg | 1L 900800 6)al0)
D. [)(NV<5@ CRIWMB[ IV. |EnN200U 6aNIW 0]
Options :

7155058681, A-L B-III, C-IV, D-II



7155058682, A-IL, B-III. C-1, D-IV

7155058683. A-IL, B-III, C-IV, D-I

7155058684, A-III, B-II. C-I, D-IV

Question Number : 87 Question Id : 7155052737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
lst Five Year Plan | [ |1969-1974
4th Five Year Plan | 1T |1951-1956
8th Five Year Plan | IIT 1992-1997
11th Five Year Plan| IV |2007-2012

o|ofw|E

Choose the correct answer from the options given below:
Options :
7155058685, A-L B-1I, C-III, D-IV

7155058686. A-11, B-1, C-III, D-IV

7155058687, A-II. B-III. C-IV, D-I

7155058688, A-II, B-1, C-IV, D-IIT

Question Number : 87 Question Id : 7155052737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gal®)o alS1 Gal@B6)dh:.

eNav 1 efeoo 11

A J@EREY ale@ICUGN0 ol I |1969-1974

B. [MoL190 ale@ICU@NIO al@LEO)) II. 1951-1936

C. [nf)S00 al&@UQUDNID alELOY] II1. {1992-1997

D. |ad@16)MNIMI0 el UL alEUOY| IV |2007-2012
Options :

7155058685. A-L. B-1I, C-III, D-IV

7155058686, A-1L, B-1, C-III, D-IV

7155058687, A-IL, B-III, C-IV, D-I

7155058688. A-11, B-1, C-IV. D-III

Question Number : 88 Question Id : 7155052738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1I LISTII
A PMadurat [. |Planned Hill city
B. |JAurowvile II. [Kadamba Vanam
C. [Lavasa ITI. |Grid Iron
D. |[Chandigarh IV. Pvlatra Mandir

Choose the correct answer from the options given below:
Options :
7155058689, A-IV, B-1, C-II, D-III

7155058690. A-IV. B-II, C-I1. D-III

7155058691. A-L B-II, C-IV. D-III



7155058692, A-1I, B-IV, C-1, D-III

Question Number : 88 Question Id : 7155052738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
@al@)o alS] Gal@H6)db.

anav I eNqu 11
A loween L@@ oo aeICwI0 MR
B. [@ocoon@d] I fesm cumo
C. [e1cuacmy 1L [lu7ol) @pend
D. |alemuNnold | IV. [@oi@n aosd@

Options :
7155058689, A-IV. B-I, C-II. D-III

7155058690, A-IV, B-II, C-1. D-III

7155058691. A-L B-II, C-IV. D-III

7155058692, A-IL, B-IV, C-1. D-III

Question Number : 89 Question Id : 7155052739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following article is related to Panchayati Raj ?

Options :

7155058693. Article 243

7155058694. Article 324



7155058695 Article 124

7155058696. Article 73

Question Number : 89 Question Id : 7155052739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DU @D af@06NT ARG EIZAIW WS BRES A3

Options :

7155058693, BO@S 1861100 243
7155058694, OB 1861100 324
2155058695, GIO@BS 1861108 124

7155058696, BIO@S 1861103 73

Question Number : 90 Question Id : 7155052740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many acres is 1 hectare?

Options:

7155058697. 2.47

7155058698. 3.47



7155058699. 4.47

7155058700. 3.47

Question Number : 90 Question Id : 7155052740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
a0 af3BO)PHE3I6IT) 63(0) 6)nR (3
Options :

7155058697. 2.47
7155058698. 3.47

7155058699. 4.47

v
I
~1

7155058700. 5

Question Number : 91 Question Id : 7155052741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
What is the full form of the NITI ?

Options:
7155058701, National Institute for Transforming India

7155058702, National Industry for Technology India

7155058703, Nattonal Industry for Transforming India



7155058704. National Industrial Technical Institute

Question Number : 91 Question Id : 7155052741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NITE Q@)E)S al)@6M@)alo af)(0)
Options :

2155058701 (NIaHEM@B OBIVICNLNS GaNI(@ (SIMBIIGNI@A63 DM
2155058702 (N0aHEM @B HBALMNIIS] BaNI@ 6)SEHI632L] D)
2155058703, (NJaHEM@B EHMBALAVIS T BaNI@ (SINBMNIGRNIBA63 DM

2155058704, (NIaHEMN©3 DAFOWIVIS Q@B OISO 1B OHMBIIIONNS

Question Number : 92 Question Id : 7155052742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The term "Conurbation" was coined by ?

Options :
7155058705, Kevin Lynch

7155058706. Patrick Geddes

7155058707. Ebenezer Howard

7155058708. Lewis Mumford



Question Number : 92 Question Id : 7155052742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BBIMN@BEENHNB )M (CWINo DalGWIUT2)®)
Options :

7155058705, 6)dh 113 2Nerm]

7155058706, (S 186) NN
7155058707, 20)ENIMNAV@ EaOICUIEW

2155058708, PR ?)0GaNI@UI

Question Number : 93 Question Id : 7155052743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who is the planner of Durgapur city?

Options :

7155058709, Le Corbusier

7155058710. Ebenezer Howard

7155058711, Joseph Allen Stein

7155058712. Charles Correa



Question Number : 93 Question Id : 7155052743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3)B0N2 )@ N3 @RV H0B @)D
Options :

7155058709. 6)21 GHI@6NINV Q@

2155058710, A0)ENIMNTV@ GaOINUIE(UI

7155058711, G29(Mall @OLINBAYIB

7155058712. al0UBN) GBIV 1

Question Number : 94 Question Id : 7155052744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In problem figures, A and B have certain relation. Identify which one of the answer figures will
have similar relation between C and D?

J R

Options :

1a

7155058713.

7155058714.



Ak

Fa

7155058715.

i

7155058716.

Question Number : 94 Question Id : 7155052744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@ 2 NOOD6E] A @)o B @)o (G eNINMLOBILIEN. HOMm®
2[IMEBRS 16! aBOMIMNTINIGNT € @)o D W)o MAX LSS cNIMWETDN 10
TUBIMMIW)SE D)

=0 | e

Options:

7155058713.

7155058714.




Fa

7155058715.

i

7155058716.

Question Number : 95 Question Id : 7155052745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The Housing Development Finance Corporation Limited (HDFC) was founded in:

Options :

7155058717. 1947
7155058718. 1961
7155058719. 1977

7155058720. 1981

Question Number : 95 Question Id : 7155052745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

£aNM63 WWARRIINDT A IMINBMY GHI@aleNaHE £NANMS (HDFC)
M0 1B66SO

Options :



7155058717. 1947
7155058718. 1961
7155058719. 1977

7155058720. 1981

Question Number : 96 Question Id : 7155052746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
An essential feature of federal government is:

Options :

7155058721, Centralisation of Powers
7155058722. Division of Powers between various levels
7155058723, Opposition

7155058724, Unwritten Constitution

Question Number : 96 Question Id : 7155052746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
£a0WOM3 NOLENEODE1EM 63@) @RMIUUDS TVONGURUMWIEN.

Options :
7155058721, GO 1dHI@ Cdh((31H06Mo



2155058722, (U1 MEI6ERUE M 121)6363 @I 1600 (U1E2Mo

7155058723, ()@ laddhHo

7155058724, 10)¥0)6)SIO10) B(06ITIHRIST)

Question Number : 97 Question Id : 7155052747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a public sector bank?

Options :

7155058725, ICICI
7155058726. State Bank of India
7155058727. Indian Bank

7155058728, Canara Bank

Question Number : 97 Question Id : 7155052747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
DU 08 ARG O)ld@ICAGUELID 6rUIHs BIID00).
Options :

7155058725, ICICI

7155058726, BAVE 61108 630al) E)(1D)Y



2155058727, DAMI0B 61086

7155058728, H(NOI GNINEH

Question Number : 98 Question Id : 7155052748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

———| CONTOUR

500 40 Kl 20

In the given diagram, the location of D on the site is:
Options:

7155058729. 30-40

7155058730. 40-50

7155058731. 10-20

7155058732, 20-30

Question Number : 98 Question Id : 7155052748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058729. 30-40
7155058730. 40-50
7155058731. 10-20

7155058732, 20-30

Question Number : 99 Question Id : 7155052749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Statement I: In the given diagram, the location of B is higher than C
Statement IT: In the given diagram, the location of A is lower than C

In the light of the above statements, choose the correct answer from the options given below:
Options :

7155058733. Both Statement I and Statement IT are true

7155058734. Both Statement I and Statement IT are false

7155058735. Statement I is true but Statement IT is false

7155058736. Statement I 1s false but Statement IT is true

Question Number : 99 Question Id : 7155052749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



El CONTOUR
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Options :
2155058733, LAJTRIOUM I 8o (alRICUM 1T Do VB T@I6N].

7155058734, [2ITRIOUM T Do (aITPIOUM 11 Do HMQI6IT).
7155058735, LAATROCU) I U@ 1Yo [alOCUM II E}(U)ng%rﬁ.

2155058736, (ITRIQUM T @0 (AlTRICUM 11 (@ 1WYA06N].

Question Number : 100 Question Id : 7155052750 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, the location of the A lies on which contour ?
Options:

7155058737. 20-30

7155058738. 30-40

7155058739. 10-20

7155058740. 40-50

Question Number : 100 Question Id : 7155052750 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

7155058737. 20-30
7155058738. 30-40
7155058739. 10-20

7155058740. 40-50

Question Number : 101 Question Id : 7155052751 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Statement I: 'A’ is located at the lowest point of the site,
Statement IT: 'A' is located at a lower point than B' on the site.

In the light of the above statements, choose the correct answer from the options given below:
Options :

7155058741. Both Statement I and Statement IT are true

7155058742. Both Statement I and Statement IT are false

7155058743. Statement I i1s true but Statement IT is false

7155058744. Statement I 1s false but Statement IT is true

Question Number : 101 Question Id : 7155052751 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
2155058741, (AITYIOUM I O0 (alYICUM I Do Lo 1WI6N).

2155058742 (AJORIQUM 190 (alTRINUM I Do HINQI6IN].
2155058743, (AITRIQUM T UA@ )0 (alTYIQUM I HXDQIA6N].

2155058744, (AITRIQUM TH@Q)0 (AlTYICUM 11 (@ 1Y A06N].

Question Number : 102 Question Id : 7155052752 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, how many contour levels are present in between "P" and "S"
Options :

7155058745, 2

7155058746. 3

7155058747. 1

7155058748. 4

Question Number : 102 Question Id : 7155052752 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058745, 2
7155058746. 3
7155058747. 1

7155058748. 4

Question Number : 103 Question Id : 7155052753 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the given diagram, "S" is higher than meter from "R"
Options :
7155058749. 3

7155058750. 10

]
L

7155058751.

[
L/

7155058752.

Question Number : 103 Question Id : 7155052753 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

LA

7155058749.

7155058750. 10

[
L

7155058751.

[y
A

7155058752.

Question Number : 104 Question Id : 7155052754 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Based on the given diagram:
Statement I : "R" is higher than "P" and "Q"
Statement IT : "S" is higher than "P", "Q" and "R"

In the light of the above statements, choose the correct answer from the options given below;
Options :

7155058753. Both Statement I and Statement IT are true

7155058754. Both Statement I and Statement IT are false



7155058755. Statement I 1s true but Statement IT 1s false

7155058756. Statement I is false but Statement I is true

Question Number : 104 Question Id : 7155052754 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
2155058753, (AITYIOUM I 80 (alTYICUM 1T Do Lo 1WIGN).
7155058754, (2TRIUM T Do (alTYIOUM 11 Do ODQI6IT).

2155058755, (AJTRICUM T 0O 10 (alTYICUM 1T DO A6NT.

2155058756, (ITRIQUM T @0 (AlTYINUM 11 (@ 1WYA06N].



Question Number : 105 Question Id : 7155052755 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Based on the given diagram:
Statement I : "P" is located at a height of 110 M
Statement IT: "Q" is located 5 M lower than "S"

In the light of the above statements, choose the correct answer from the options given below;
Options :

7155058757. Both Statement I and Statement IT are true

7155058758. Both Statement I and Statement IT are false

7155058759. Statement I i1s true but Statement IT is false

7155058760. Statement I is false but Statement IT is true

Question Number : 105 Question Id : 7155052755 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
2155058757 [AITROOUM I ©0 (alMRINIM I Oo D IIEM.
7155058758, [IMROQUM T o (alTYOCUM II Do HAQI6M.

71550587509. (dTROCUM 1 Uam'1@30 [ JTROCUM) IX Q@QJEOGTT']J.

1155058760, (AITRIQUM T @ Qo (AlMYICUM T Lo 1A I6M).
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Question Number : 106 Question Id : 7155052756 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

Draw a proportionate sketch of given reference image. Use black and white rendering techniques of
your choice,
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Question Number : 106 Question Id : 7155052756 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

@M@ 000N HERZNM ERMEWIRINIW afl(@o MIe)dha]
60, (T 16BBB)AS EaUIMIMIDAMO HOYa], NIl HNNBAL1A3
6)585 1666} D EWIUTBHINLMMIENT.

Question Number : 107 Question Id : 7155052757 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 50

Use the basic 2D shapes found in a motor cycle and create an interesting 2D composition of your
choice, colour with any three colours of your choice.

Question Number : 107 Question Id : 7155052757 Question Type : SUBJECTIVE Consider As

Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Correct Marks : 50
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